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Ot SLYHE 2128 M=sY 2
1,500,000 +2& 3,000
OU-1TOIZ ROIGHSHEAAE EY 2
500,000 671 A 3,000
301 LEtB A= 3,550 3,550 0
09 SHAAHIZEAZ 3,550 3,550 0
OZ=E sidN=x EHAEA
25,000 & x50 *2IH 3 2,500
Otz 1T Y I AP
7,0002 x50 3 &= Bt 1,050
402 QIZ2ERF201X 139,300 183,475 N4 175
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2A: sSXE
M WEE AMAFY
CR: DSE NAMAL CERE)
_ ) _ PSIEY= -
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao ‘Oﬂa_% Hlus2
01 RIZERGEAIEE S 139,300 183,475 N44 175
OLNZEZ ArEBHMAHUIEX]) X
29&* 1,500, 0000H*50% 21,750
OLNSZE AMMMAHEIAIES) X
120, 0002 *500 = *50% 30,000
Ol =28 217 & 22)| X
5,900, 000& *6IH 2~*50% 17,700
OAIF MEH S AMSE AIY
10,050, 000-& *2IH A*50% 10,050
O Xsdgd| &xl X
9,800,000 *2IH A-*50% 9,800
OXeldt Dlsd L&Y 24
100,000, 000 *50% 50,000
A egsdsias J|gtay 180,000 40,000 140,000
Xl 90,000
o 90,000
402 QIZEXFE0| ™ 180,000 40,000 140,000
Xl 90,000
iy 90,000
01 QIZFAIEAIEE X 180,000 40,000 140,000
O At mUISS MACX] =4
225,000,000 %10 Ax80% 180,000
Xl 90,000
iy 90,000
sHENMNEE =X 210,000 129,500 80,500
= 60,000
iy 150,000
402 QI2EXH20| & 210,000 129,500 80,500
& 60,000
= 150,000
01 DIZEAIEAEE R 210,000 129,500 80,500
O s&AZENMESE = XA 210,000,000& 210,000
== 60,000
o 150,000
Ut OFMAHAL AIRH 30,000 100,000 70,000
= 15,000
= 15,000
402 BIHXHE0|H 30,000 100,000 AT70,000
= 15,000
iy 15,000
01 DIZERGEAIEE S 30,000 100,000 70,000
O Wilnegt & AHZ22012 ois =I|2HHl Al
=) 30,000,000& 30,000
= 15,000
iy 15,000
A J|sAlH 130,000 60,000 70,000
= 65,000
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2A: sSXE
M WEE AMAFY
CR: DSE NAMAL CERE)
i PSIEL -
A - FM . S(SH) - MEAIY - BES 04| AroH loﬂ/'\_pou Hlns2
o 65,000
402 QIZ2FRI=0| M 130,000 60,000 70,000
= 65,000
o 65,000
01 QIZFAIEAIEE R 130,000 60,000 70,000
O EZ=ZA0IZ2 UaIARI s AlY
130,000,000 130,000
= 65,000
o 65,000
L2535 A=Y 71,400 0 71,400
= 60,300
iy 11,100
402 QIZ2ERHE20| A 71,400 0 71,400
= 60,300
= 11,100
01 DIZFAIEAEE X 71,400 0 71,400
O HI2IZ MAAIE SHUSH 50,000,000& 50,000
& 50,000
O == =388 &) 4,000,000& 4,000
< 1,600
= 2,400
O =0 &30 K& 17,400,000& 17,400
< 8,700
= 8,700
SEMETA AL 909,936 741,655 168, 281
= 77,500
Xl 330,000
& 32,820
iy 469,616
SEX2 A 561,226 478,545 82,681
= 77,500
Xl 205,000
= 25,000
iy 253,726
SIEASSIEHAH D] 27,226 20,545 6,681
101 2124d| 15,126 10,845 4,281
04 JIZtMIZ22XsE 4 15,126 10,845 4,281
ONEESEER ARSINE 2IFY 15,126
0.123 44 6402101250 11,160
0.=xt=< 44,6403 x50 2,232
0.=2RIHUEES 13,383, 0002 *3.035% 407
0.=012 13,383,000& *4 . 5% 603
0. A MEE = 13,383, 000& *4.0% 536
0.12882 13,383,000& % 1. 3% 174
0.L01ZD|IQAUBE2 407,000&%3. 275% 14
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SN SATIAD
HE: SEMBTAAY
ol SEXRAY (Sr9): 1)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
201 Yur2y| 8,400 6,000 2,400
02 S22 8,400 6,000 2,400
o332l 8,400
0. MESHFBA HIIRZ 7000008122 8,400
206 24| 3,000 3,000 0
01 2] 3,000 3,000 0
OBESA £S5 JWAH HSUE
3,000,002 1] 3,000
301 Y23 700 700 0
09 EAAEI 2 &S 700 700 0
OBESALSS DHAT B4
7,00024%1002! 700
SEABEHE 1,000 1,000 0
01 LB BAS 1,000 1,000 0
09 EAAEI2AE 1,000 1,000 0
OSEZZ SH5 B4 B4 100,0002+103] 1,000
RELLLHEHIR 50,000 45,000 5,000
= 25,000
2 25,000
201 Er2Y| 13,000 0 13,000
= 6,500
2 6,500
01 Al 2l 3,000 0 3,000
O SE018 HZHLAY DAY
200,00024+153] 3,000
= 1,500
2 1,500
03 BAL2 Y| 10,000 0 0,000
O SE018 HZHLAY 0BIE
10,000,00024+13] 10,000
= 5,000
2 5,000
206 28| 4,000 0 4,000
= 2,000
2 2,000
01 THEH] 4,000 0 4,000
O SE018 SN Al Aaz
2,000,00024x23] 4,000
= 2,000
2 2,000
01 LB BAZ 3,000 0 3,000
= 1,500
2 1,500
09 EAAEI2AS 3,000 0 3,000
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SN SATIAD
HE: SEMBAAY
ol SEXRAY (Sr9): 1)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
O s2014 9202 Alg 8K 24
10,00024%6021+574 3] 3,000
= 1,500
2 1,500
307 2120 & 5,000 25,000 £20,000
= 2,500
2 2,500
02 SIZBMARER 5,000 25,000 220,000
O SEL-MSTTOISSH(ATEO)
5,000,000 1744 5,000
= 2,500
2 2,500
402 BIRIXHZO0IH 25,000 20,000 5,000
= 12,500
2 12,500
01 SR REAES 25,000 20,000 5,000
O SIS 4B 2L A
20,000,000+ 144 20,000
= 10,000
2 10,000
O SELMET 0SS (SISA)
5,000,000 144 5,000
= 2,500
2 2,500
A E2 L5t 28,000 12,000 16,000
201 Er2L| 8,000 12,000 24,000
01 AFR22IH] 8,000 12,000 4,000
OZAIZE2YES 18 AALY
1,000, 0002/+82 8,000
402 RIRER=01H 20,000 0 20,000
01 ST AEAREE 20,000 0 20,000
OLAEE Fatg 2lee
20,000,000 1744 20,000
SEHE 2 012 2= 2 X4 AlAI 150,000 150,000 0
2 75,000
2 75,000
307 2120 & 15,000 0 15,000
2 7,500
2 7,500
02 SINBMARER 15,000 0 15,000
O SEME0E 2= 2 TH(ATEY0)
15,000, 00021%14! 15,000
2 7,500
2 7,500
402 BIIXHZOIF 135,000 150,000 215,000
2 67,500
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SN SATRD
B SEMBTR ALY
A

el SEXE

°
[
$
P
o

- _ _ PlEL=
S - T - SRI(SH) - HRA - BES 0 apot e timES

0

M)

67,500

01 QIZEtZAIE 2 X 135,000 150,000 /15,000
O =ZMEnts 2= 2 T4 (GtERA)
135,000,000 %14 135,000

67,500
67,500

MW

NS sHSEE3AE 250,000 190,000 60,000

155,000
95,000

H

201 Ze+2EH| 100,000 65,000 35,000

50,000
50,000

H =

01 At22teld| 50,000 15,000 35,000
SENSRYOINIY YT L ERSHE
1,000, 000& 503 50,000

25,000
25,000
03 HAH2EH| 50,000 50,000 0

M-

25,000, 000& *23! 50,000
25,000
25,000

H =

202 04l 2,000 1,500 500

1,000
1,000

H

01 SU0bI 2,000 1,500 500

O XS sLSLSIAIY 2,000,000 2,000
1,000
1,000

1
™

H =

207 AN E| 50,000 50,000 0

25,000
25,000

H =

01 A= 50,000 50,000 0

25,000,000 24! 50,000
25,000
25,000

O
fal
JQ
O
2
Jm
0x
ol
=
18
ot
12

H -

301 2 A= 8,000 3,500 4,500

4,000
4,000

H =

09 AAAHI2 A3 8,000 3,500 4,500

1,000, 000&*82] 8,000
4,000
4,000

H =

307 2I12+01A 30,000 70,000 240,000

15,000
15,000

M-
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A SAXIRAD
M SEMBRALY
9l SETIRAIY (E491: &)
- _ _ po[E e
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH ‘Oﬂaa_"ﬁ HwEZ
EFCES 30,000 30,000 0
O XHsASHFAY DS 10,000,0008+33] 30,000
X 15,000
2 15,000
402 RIZHRHRO0I 60,000 0 60,000
X 60,000
EEDEENEEES 60,000 0 60,000
O sEMEBES 60,000, 0002 60,000
X 60,000
SNSIIBIIERZ 50,000 0 50,000
X 50,000
207 L] 10,000 0 10,000
X 10,000
01 R gy 0,000 0 10,000
O FESATSARE JIBIES ALY
10,000,00024 10,000
X 10,000
307 BI2F0IF 10,000 0 10,000
X 10,000
02 DIIB A E 10,000 0 10,000
O HFESATIRSAY (ATES0])
10,000,000%! 10,000
X 10,000
402 RIRHRHR0I 30,000 0 30,000
X 30,000
EEDEENEEES 30,000 0 30,000
O SESATIASAI(BI=0)
30,000, 0002 30,000
X 30,000
22 & 08 ABIIB JI=RS 5,000 0 5,000
2 2,500
2 2,500
201 LBr2 | 1,400 0 1,400
2 700
2 700
01 AlR 22l 1,400 0 1,400
O 2AE 280, 0002!+53] 1,400
2 700
2 700
206 24| 3,600 0 3,600
2 1,800
2 1,800
T 3,600 0 3,600
SRS ET 30,00021+120% 3,600
2 1,800
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SN SN

nl
BE: SEMBTLIAY
A

9l SETIRAIY (E491: &)
. , - PSEL= =
S - T B2I(3) - HIRAIY - BAS 0 et e HlRE2
[] = 7,800
MBS 348,710 263,110 85,600
X 125,000
= 7,820
2 215,890
Ol =0l SHRY 62,510 67,510 5,000
201 LBr2 | 23,960 23,960 0
01 AR 22l 23,960 23,960 0
oer2g| 12,000
0.MELSSHFBR 2€Hl  1,000,0008x122 12,000
OSYHI(MBRSADEX)  7,0002+401+702 1,960
o2y+g 10,000
0.MENAE SIIEIDE ALY
200, 000214203 4,000
0.22% 20175 BIHHE ALY
200, 000214203 4,000
0. MBUBIIEDS ALY 200,0002053] 1,000
0.0IHF 23 DAUT LASY
200, 00024#53] 1,000
202 018 9,600 9,600 0
01 =Uhoid| 9,600 9,600 0
OMEPSIARAH0H]  200,0002401x 128 9,600
206 24| 22,600 22,600 0
01 24l 22,600 22,600 0
OB2% M207E WHAF ASTE
000, 0002145743 10,000
OS MBWLE ASTH2  600,000211)4 6,600
OF U 2 MERIHH LEIMEPY
300,00024+10% 3,000
OSENESE DM A&E
300,0002#103) 3,000
301 LBHR A 6,350 6,350 0
09 EAALIEAS 6,350 6,350 0
OMEINNE] DSS sl Ba2y
10,0002#2021 03] 2,000
OMEDNHS| SIIEFISHE BLSA
10,00021%1501+53] 750
OMEDIS J|=DS FABA  7,0002+1002! 700
OSENS 25 DM HHDL
00022008 1,400
OMEINN =, 52 1S EHu24
30,0002/+5021 1,500
OlEAS A 10,000 10,000 0
402 RIRIXH=0IH 10,000 10,000 0
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2A: sSXE
S SEMETRAY
o MEESANY (CH9): HSl)
i PSIEL -
2M -3 . 2(3H) - MEAY - BES 04| AroH lOﬂ/'\_pou Hlus2
01 RIZERGEAIEE S 10,000 10,000 0
O LUAME ASSH XA
10,000, 000& * 104 A 10,000
SEHEZEINSHHEHO|EBI KA 100,000 50,000 50,000
Xl 50,000
= 50,000
307 2I2t0| & 10,000 10,000 0
Xl 5,000
- 5,000
02 DIZHEAIAIE E X 10,000 10,000 0
O s&HstAIE HO|EEIHAEE
5,000,000 *2JH 2~ 10,000
Xl 5,000
= 5,000
402 SIEXH20|H™ 90,000 40,000 50,000
Xl 45,000
iy 45,000
01 QIZERIE AR E X 90,000 40,000 50,000
O SEASAINEEOIZHIXIA
45,000,000 *2JH 2~ 90,000
Xl 45,000
iy 45,000
HE=0l MEIHHSI X2 26,200 35,600 29,400
o= 7,820
iy 18,380
201 LBH2AY| 18,600 17,600 1,000
o 4,020
iy 14,580
01 AtR22|d| 18,600 17,600 1,000
O MEDHMS HEXK 17,600,000& 17,600
o= 3,520
o 14,080
O MHIX=sgEsSd XX 500, 000& *2CH 1,000
= 500
= 500
301 LEtB A= 4,000 0 4,000
< 2,000
= 2,000
09 SHAAHIEAZ 4,000 0 4,000
O AHX=sgsd 2424 10,000&*400 4,000
o= 2,000
= 2,000
402 QIZEXH20| ™ 3,600 8,000 A4,400
o= 1,800
= 1,800
01 BIZIGEAIHEE S 3,600 8,000 A4,400
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2A: sSXE
S SEMETRAY
o MEESANY (CH9): HSl)
- _ NMEE =
A - FM . S(SH) - MEAIY - BES 04| AroH loﬂ/'\_;ou Hlus2
O FAK=E282 X & 3,600,000 *1JH 2~ 3,600
= 1,800
= 1,800
SEHLE 02 24 150,000 100,000 50,000
Xl 75,000
o 75,000
307 QIZt0|A™ 60,000 20,000 40,000
Xl 30,000
o 30,000
02 DIZHEANAIE B = 60,000 20,000 40,000
O sSZEAHLEL0IE FH(AZEAN)
20,000, 0003 *30H A 60,000
Xl 30,000
= 30,000
402 QIZ2ERF20|1X™ 90,000 80,000 10,000
Xl 45,000
o 45,000
01 IZFRIE AR E X 90,000 80,000 10,000
O s&EALE0IE 4 30,000,000 *39H A 90,000
Xl 45,000
o 45,000
NSE3H iD= 496,075 572,339 NT6,264
= 70,500
& 27,200
o 398,375
NAELS I 496,075 572,339 76,264
= 70,500
& 27,200
iy 398,375
NEESAMSMAXE 132,670 103,670 29,000
201 Let2AY| 1,470 1,470 0
01 AtR2t2lH| 1,470 1,470 0
OSZH(sZMEHR =)
7,000&*301x70 1,470
202 o441 7,200 7,200 0
01 2LHOIHI 7,200 7,200 0
O oyl 200,000&*301x12& 7,200
206 MZ=H| 16,000 13,000 3,000
01 TH=4I 16,000 13,000 3,000
OEAHAZ Al =17 16,000
0.2EMR| 255 360,000&*x255 9,000
0.4101AH2 105 200,000&*10& 2,000
0 EAAHIDI| 22| 1,000,000&*15 1,000
0 icp OI22JtA 250,000& *163] 4,000
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2A: XD
I XSS5 IS
=Rl NSGSds J1=0eg (et &)
S - EH - SR(3H) - TAR - BeR of e o fimE==]
301 Et2d= 2,000 2,000 0
09 A2 aiS 2,000 2,000 0
OLNSE & dutus A28 50,0008 *40H 2,000
402 212HAH=01H 100,000 80,000 20,000
01 RIZEHZ2AIEE X 100,000 80,000 20,000
O &=l I= SSABEA =4
25,000,000 *27H 2= 50,000
Oxlatd ZHeX 2E 30,000,000 * 17 A 30,000
Oz|1=a2% H=2E 10,000,000 24 2 20,000
405 RHaHE SHI 6,000 0 6,000
01 MM ESF=HI 6,000 0 6,000
OEZH3d JpI=2= 6,000,000& 6,000
SAIEZE =g 168,005 168,269 N264
101 2244 36,655 33,769 2,886
04 JIZHNI2Z2 XS24 36,655 33,769 2,886
OASAIEE 22| 18y 12,103
0. JlEs 44,6403 %1Q1x2002 8,928
e N ] 44,6402 %121x402 1,786
0. =YALEEZ 10,714,000%4+3.035% 326
0. =223 10,714,000 %4 . 5% 483
0. &HEE= 10,714,000 *4% 429
0. nE2EE 10,714,00024+1.3% 140
0. TOINIIQYTEE 306,0002/+3.275% 11
OABAEEE 2g oz
44,6402 x521+602 13,392
OBMEH, C2, ABHAIZ SEXT 212
44,6402 %521x502 11,160
201 €Eh= g 16,350 17,000 2650
01 At22t2ld 5,400 5,400 0
Os8HE A=Al 22| 300,000& %10 3,000
O SAIEZEE 2| 200,000&*12& 2,400
02 E==4H 10,950 11,600 2650
Oo™IIe=3 4,200
0.8AIBE &JIesS 350,000&*12& 4,200
O =ZH] 6,750
0.sSMLAIE 2,000,000&*3= 6,000
0.sJIA 250,000& *3CH 750
206 =4l 65,000 65,000 0
01 MZH 65,000 65,000 0
OASNEEY ZS2S I 72
2,000,0002*105 20,000
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A SRR
Ha: X|iSst KIS
ol XIeiSast JIEohe (E491: &)
- _ _ PlEL=
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
OENFH 5= 812 Arg
5,000, 0002+6% 30,000
OABHAS N7 3,000, 00021455 15,000
401 AlZHIL2 TR 50,000 52,500 £2,500
01 AIZH] 50,000 52,500 22,500
OMLAIL BH2A HILDA  3,750,0002+85 30,000
OABAEEH HILolRA AN
20,000, 000215 20,000
22| SABKI 54,400 54,400 0
= 27,200
2 27,200
202 014 5,000 4,000 1,000
= 2,500
2 2,500
04 =HEH0iH| 5,000 4,000 1,000
O ASYHB SHWY Jl=nS
5,000, 00021%121 5,000
= 2,500
2 2,500
402 RIRHRH0IH 49,400 50,400 A1,000
= 24,700
2 24,700
EEDENEEES 49,400 50,400 A1,000
O DEX b AXF AlAI
7,200, 0002+ 1H4 7,200
= 3,600
2 3,600
O ZSHSAS MACHT| AEAY
6,000, 00024+ 1JHA 6,000
= 3,000
2 3,000
O ZM2 MA| B2 =X} Al
15,000,0002 1744 15,000
= 7,500
2 7,500
O Zed galE LR Al
9,600, 00024+17H 9,600
= 4,800
2 4,800
O S8 DIM42 XDHHZE 2EAY
6,000, 00024+1JH 4 6,000
= 3,000
= 3,000
O t JICk2lY YHDIE Al
4,000, 0002%1H 4,000
= 2,000
2 2,000
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=X 2}
Si=3| THhIIS
SR SIESTE (erl: &g
. , - PSEL= =
SA - F . CR(BH) - HRAY - BES aro Gl Arod F{ImE=ST
SEEEICE =S EEENE
800, 000& *2I 2 1,600
< 800
fia 800
EYATARY 22,000 22,000 0
2 11,000
i 11,000
101 @1244| 22,000 22,000 0
= 11,000
i 11,000
04 JRIH2ZNEE S 22,000 22,000 0
O EZZEE 22 22,000,000& 22,000
= 11,000
2 11,000
goisdHa 29 19,000 19,000 0
= 9,500
i 9,500
101 @124 8,500 9,300 A800
= 4,250
A 4,250
04 D122 RS ES 8,500 9,300 A800
O dais tzax 29 o= 8,500,000& 8,500
2 4,250
i 4,250
201 24| 6,300 5,500 800
= 3,150
i 3,150
01 AtS2teld 6,300 5,500 800
O A2zl 6,300
0 HEE2Y Xz 3,500,000 * 1042 3,500
2 1,750
i 1,750
0 goliE ZHl 22 460,000&#53] 2,300
= 1,150
i 1,150
0 galis =AY 100,000&*5& 500
= 250
2 250
206 THEH| 4,200 4,200 0
= 2,100
i 2,100
01 M=Hl 4,200 4,200 0
O 4% 2 H5iE BET 28 W27 (M, 2
2l) 300, 000&*5IH 2 1,500
= 750
i 750
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SN ST

Ha: X|iSst KIS
B9l XASAs JIEH EERED
. , - PSEL= =
S - T B2I(3) - HIRAIY - BAS 0 et e HlRE2
O BZ2EE 238 W= o (Z0 0Fs)
300, 00022 *2H A 1,200
2 600
2 600
O YHE2ET 2% H27(H2)
300,000 +574 2 1,500
2 750
2 750
WEREESSIES 100,000 200,000 100,000
=2 50,000
2 50,000
402 BIZFRHE0|H 100,000 200,000 100,000
= 50,000
2 50,000
IEEDUNISEES 100,000 200,000 100,000
O ARSIBEY ML U IITHIS Il
100,000, 00024 100,000
=2 50,000
2 50,000
SEZA 245} 1,392,409 1,602,245 £209,836
= 23,000
= 108,025
2 1,261,384
SIIHA X 780,741 1,031,065 £250,324
= 23,000
= 108,025
2 649,716
SSIP ECESIPESnE 22,640 22,900 1260
201 LBr2g| 3,640 3,900 1260
01 ARl 3,640 3,900 1260
on=t| 640
0. SJ1Hn2 MY=7el
160, 00024+201+23] 640
ORSE=I|H.JI KA 3,000
0. WESIIH.JIPRXEl 100,0002+30CH 3,000
206 TH2H| 19,000 19,000 0
01 M=t 19,000 19,000 0
O =342l 257
10,0002 %20 % +605 12,000
OSJ1H 314218 BLBT  100,0002+20% 2,000
OsJIH #3428 422 7
20,00024%250% 5,000
SIIHYUHAI AR 457,351 595, 173 ~137,822
101 Q121b] 43,751 21,643 22,108
04 JZR2EXSE+ 43,751 21,643 22,108
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S A

HM: —Z——’E%M o5t
2l SIIHAY X2 (e A )
- _ _ pSIE [
2A - M G2 () - HRAY - BES Ol Akt @Eiﬁ Hws
OsIIHAUAIA 22| o122 43,751
0. J1=22 65,0002 x22*250! 32,500
0. Fx=g 65,0002 «2ZHx48 6,240
0. ILALLEZ 38,740,00024%3.035% 1,176
0. 2013 38,740,000 %4 . 5% 1,744
0. MH2ES 38,740,000 %4% 1,550
0. 12282 38,740,000 x1.3% 504
0. LOE) QAL 1,124, 00024%3. 275% 37
201 LBt YH| 75,700 63,630 12,070
01 AF22t2IH| 40,180 37,950 2,230
O3y 40,180
0. SIHUUAIS A SHHI(AE, SHA)
200,000 *2J4 A 122 4,800
0. HA2HHI(&H, SHd)
300,000 274 Ax 12 7,200
0. SIHUHAIEASA RG] EAl
70,0002 %112 %23 1,540
0. SHHI(SESAERFA)
7,000 %621x70 2,940
0. SSH(SIHUUHMIASI AR EX)
7,0002%321x100 2,100
AUSIIHES I 200, 00024 100CH 20,000
AAI A 2R II1=7¢
200,000 x401%235] 1,600
02 B229H| 35,520 25,680 9,840
OAAEH| S| 25,680
0. YUsIIAH S 100,000 *60CH 6,000
0. JUIQIXZ(BE) SXHI(ER)
1,80024%200 £ * 122 4,320
0. =2|4CIXIE(3.58) SAHI(ER)
1,8002/%200 4 *122 4,320
0. SHEAUAIEARAIZ(1E)SXIBI(BSR)
1,80021%200 £ * 122 4,320
0. MEAUSIIH 2SI HH(1E)
1,80024%200 £ *12& 4,320
SASLH| 1EX12 100,000 1CH*12& 1,200
0. = XIAX KX 600, 00024 +2CH 1,200
O 3322 9,840
0 MIIQB(AH, HHEATHAIEA)
350,000 x2J4 Ax 12 8,400
0 MAMTZZ2I2 2| 120,000 %128 1,440
202 OiH| 14,400 14,400 0
01 2UH0IHI 14,400 14,400 0
O J|1=2H2430H| 14,400

- 635 -



S A

Mm: =a2i 2a5
Sl SIIAAIY X2 (erl: &g
. , - PSEL= =
SA - FH - S2(33) - MPAY - BAS Ofl koY Gl Arod F{ImE=ST
0. SESASFE|
200,000& 621123 14,400
206 M=z 4l 52,500 52,500 0
01 =4l 52,500 52,500 0
OsIIHYUAI AT 2B
70,0002« 15& %508 52,500
401 AIEHIYL S OHYI 75,000 0 75,000
01 AlZHI 75,000 0 75,000
OSIIHLUNAL AR D HBHETI(AE, EH)
75,000,000 *1JH A 75,000
405 XHHH S| 196,000 443,000 A247,000
01 AL SEFS| 96,000 443,000 A247,000
O L=sIAH 7 196,000
0. sEHM=JI 15,000, 000& *2CH 30,000
0. sE=41 30,000,000 «2CH 60,000
0. M==AZ2ESDI 20,000, 000 *4CH 80,000
0. H=DO(EHHERE) 13,000, 000& =2CH 26,000
sIHNSESAE-I =X~ 61,250 306,366 A245,116
= 20,625
i 30,625
201 =24 2,250 2,333 A83
= 1,125
i 1,125
01 AtS2teld] 2,250 2,333 A83
O SIIHEH0IBIIZDE DA
10,0002 #2005 2,000
= 1,000
2 1,000
O DEEUSIY| SV (ASBLHRER)
250,000& 250
= 125
i 125
202 Oid| 6,000 2,333 3,667
= 3,000
[ia 3,000
IETCE] 2,000 2,33 A333
O SIHEH0IBIIZDS GHIXI2
2,000,000 2,000
= 1,000
i 1,000
04 =2HIstoid]| 4,000 0 4,000
O HESIIAHBXIOR 4,000,000 12! 4,000
= 2,000
2 2,000
402 QI2HRH=0IH 48,000 89,500 A41,500

- 636 -




S A

PSESH —Z——’E%M Eeager
SR SI|HAY X (&2 ML)
- _ _ N = ~
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao loﬂfm Hns2
[ 24,000
= 24,000
01 CIZEXH= AN E X 48,000 89,500 A41,500
O BA=84 MG SIIHXS(D=AZI])
960, 00024 *50CH 48,000
[= 24,000
= 24,000
405 KHAHESH| 5,000 207,800 A202,800
[ 2,500
= 2,500
01 R 2EFSH| 5,000 207,800 £202,800
O NESSHSHH|(ZHE0HESD])
2,000,000 *1CH 2,000
[= 1,000
= 1,000
O NSE=AEH|(C022E )
3,000,000 *1CH 3,000
[= 1,500
= 1,500
arEs )| K 193,500 106,626 86,874
[= 77,400
= 116, 100
402 QIZHRH=0|H 193,500 106,626 86,874
[= 77,400
= 116, 100
01 DIZEXHE AN E X 193,500 106,626 86,874
O B8z 22 1,000,000 102CH 102,000
[= 40,800
= 61,200
O U=xaTII2Z 300,000 *35CH 10,500
[= 4,200
= 6,300
O SaEAHXD) 900,000 *15CH 13,500
[= 5,400
= 8,100
O SAXRAY 900,000 *35CH 31,500
[= 12,600
= 18,900
O 2EAXD| XA (EQIM)
6,000, 000! +6LH 36,000
[ 14,400
= 21,600
S HDSEHAIN-ZDBX 46,000 0 46,000
= 23,000
= 23,000
201 LBt Y| 6,000 0 6,000
= 3,000
= 3,000

- 637 -




S A

mu mE2A B
=2l sIIAHAE X (cHel:&J)
- _ _ PlEL=
S - BB () - HRAY - BaES 0] apot e HlRE2
01 At22teld| 6,000 0 6,000
O =J1H &= 500,000& 63l 3,000
= 1,500
i 1,500
O 2= 500,000& 63l 3,000
= 1,500
o 1,500
301 LB AS 4,000 0 4,000
= 2,000
o 2,000
09 SAtAHIEAZ 4,000 0 4,000
O s8Iz 20,0002+ 100 *22] 4,000
= 2,000
o 2,000
405 XHoHESHI 36,000 0 36,000
= 18,000
= 18,000
01 IRILE2EFSHI 36,000 0 36,000
O sE2RH(AIIEZ2RH)
36,000,000 *1CH 36,000
= 18,000
= 18,000
SE SA 243t 611,668 571,180 40,488
120 Jl=tf 24 5,100 5,100 0
201 Ler2 | 2,700 2,700 0
01 At22teld| 2,100 2,100 0
O gBt=EH| 1,200
0 1200 EESAA 100,000& 123 1,200
O Il=Hl 900
0 12001l &= 150,000& *321+23] 900
02 2222l 600 600 0
O 222 % MA 600
0 12001t FEUHZEAER 50,0002 *12& 600
202 (44| 2,400 2,400 0
01 =LHOHI 2,400 2,400 0
O Jl=e24+s0i| 2,400
0 1200 ISUHER=A04H|
100, 000&*201x12& 2,400
12023 SAtEs X 27,590 27,590 0
201 LBt2Z| 4,550 4,550 0
01 At22teld| 4,550 4,550 0
O iBt=EH| 4,550
0. &Z==ARIHIZ 35,000&*102!x113 3,850

- 638 -




S A

I‘iiH:

e = =, (cHel:&J)
S - I BR(3) - AIRAR - BaS oty e ezl
0.120XH2 SALAF ZFAHH KIZ 70,0002%102! 700
206 M=4] 14,240 14,240 0
01 M=4 14,240 14,240 0
O MEHNZMH=F 100,000 x45+123] 4,800
O 120=2SADIE NS IS S A2
200,000 *123] 2,400
O 120=3SAt &Hi, ZFE S
100,000& 122} 1,200
O 120=2ISA0I0IBHE L 120,000&*122] 1,440
O JIEES7L Mz 100,000&*122] 1,200
O 120=2ISAt2ed, 30D |1FS7
100,000 %122 1,200
O AHESAHESHE 10,0002 %105+15¢! 1,500
O 120X+ SAF 500AI12H QISTH =
500,000& =174 500
301 Ler2L=s 8,800 8,800 0
09 BAAHI2AS 8,800 8,800 0
O 1202 SAH EOt2 03 F4
20,0002 %5021 1,000
O 120AHESAL =2 SAHEESEA
20,0002 %1521%113] 3,300
O 1202 S AL 2314
20,0002 x5021+23] 2,000
O 120KHASAHL S4=XSASE 50,000 500! 2,500
sEIIZSEX £ 2l 578,978 538,490 40,488
201 fEH= & 217,520 177,680 39,840
02 5=t 217,520 177,680 39,840
O 332 & MA 207,680
0. Jti2s &K= 16,500,000« 122 198,000
0. JIZ2S AHARE SHH=ELUS
242,000 400K 2 9,680
O sEMNZS IRl +2IxtE(1.28) S
ol d= 1,800&*400 £ x12& 8,640
O |XAE=H| 100,000 * 1CH* 122 1,200
1 AlEHIZL 2O 361,458 360,810 648
01 Al£H] 358,230 358,230 0
O JI2s =AlZc| =& 30,000&*1,500S 45,000
O 2SS A ZAHI 1,800
0. =88 36,0002 %500 2 1,800
O AIDHRI 2SS4 2,500,000&*305 75,000
O ADHDIZS NI ZS e, oE | WAl
336,200& %1505 50,430
O s&inzs a4 1,200,000 +100S 120,000

- 639 -




M sSX
ZH: =ESA 843}
=2l =& SAt 243t (el &
x 5 . AT
S - FE - SRI(SIH) - HRARY - BAS il ko Sl o HimE=]
O s&JI2s 014 600,000&*60S 36,000
O s&EIII2S8 AWM 1,200,000&*255 30,000
03 A& 3,228 2,580 648
O JI2S &EXI3At 20l
448,230,000&*0.72/100 3,228




